I FH BEN LSRR AR S R A

FERH: #RocH!
FR A : 2007 4F 1 H 16 H 14:30-17:00
. 2R (Superplum)

1. Xy, X, B HOupLAs &, HA P(X, =1, X, =1)=2/16, P(X, =1,X, =2)=5/16,
P(X,=2,X,=1)=3/16, P(X,=2,X,=2)=6/16. X, X & X, X, KIT5 it
B B X =X, A X, X=X, v X,

(1 KE(X, | X, =i), ie{l2}, KE(X,|X,)mrkmsgist.

(2) skcov(X,, X,)s Xy, X, A2 B

(3) K E(Xy | X, ) it iisat,

2. {B(t)t>0} /& br #E 15 B 3& 3) . Xn=ZBZ[k_1t)(B(£tj—B(k_ltjj,

Y, = exp(/iB(n)— 2/12] :

(1 {Y,,n> 0} A, BEHIHH,

@ emE(D)=37, Klim X, =2, slm E(X,)=?

3. {N(t),t > 0} =B HCHN HIFFIIRAIAL, S,,S,, ) Syye e A FAFA AR R I %] N(t)
0,17 P i R 9 5

(13K S,, S, —t 76 N(t) = L& F e s gms, S,,S, —t HXTN({)=1%
PR, MG, BIIE

(2) K E((S, —ES,)S, —ES,)|N(t)=1).

a, {X(t)t >0} 2= e, H e dX(t) = —X (t)dt + odB(t) . e {B(t),t > 0}
RARHEATIIZE), p Flo # 2R
(1) sk X () mgikat, Il st uim X (8) 2754 5K il KA.



A

2 4 X, =X(n), &, =[" e IdB(s), il {e,,n e Z} TR IES AT, FI

n-1

{X,,neZ} AR AR, BiIIH .

(3) J X, B X, 0 SO X B HE 0 B X0, 3 sk B B 7 B 5 22

*

n+l| °

E[X, ;- X

5. HIE M/M/1/2 HEARZE. — XK BURJE, W RERAN 2 MBi%, Bk ENERESECOIN 1)
FEIARAGR, BEASBUET (0IR 55 I TR AL [R] 73 A7, B NS B IR95 B A B e 2155 I 1)

FHEST, 5 LR A IRSS , 30 X (t) o i L I 2128, X (0)= 0,4 =2, 4= 3.
47, =inf{X(t)=0:t>0,X(0)=0}, 7, =inf{X(t)=X(z,,):t>7,,}, W &%
X ()% n UL, n>0, 7,=0, 4 X, =X(z,). X, 0 SHEBR L)
P = (5ij)°

(1) Rk X MEBRME Q. &k X, 1 SEBMAmEp . kP(X, =i)i=012. %
P(z, <t).

() W lim E(X(z,)) R B, WHIEH, A, k2.

n—o0

(3) AT =inf{t:t>0,X(t)=2}, KE(T|X(0)=0).



